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Part B Structured essay Questions (55 marks)

- (a) Write reactants and products needed for following conversion
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(b) Draw the structural formula of 2,4-dinitrophenylliydrazine
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(¢) The molecular formula of valeric acid is CH; -

write down the configuration of the
relevant stereoisomer’s
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72.(a) A solution contain 12.2 g/dm’ benzoic acid [CsHsCOOH]. K, for benzoic acid is 6.25 x 107 mol dm™
Calculate the pH of the solution
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Write the overall cell reaction for above cell, :
Calculate the voltage of the cell ijg: A E;g; J4g.~ 1080V
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(c) Find the pH of the 1.2 x 10 mol dm™ HCl solution Ky = 1x 10" mol® dm® _ (
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